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1. sin3x+cos3x=1 D& X sinx+cosx DIEZ KD X,
2. cosx —/3 sinx = -1 %f#F, (0 =x<2m)
3. logip2 =a. log;p3=b &HL, logsl2%a. bx MW TEL,
4. 3V =x+1., y—1=2logs(x — 1) Zfi#},
5. x2oBox = X iy,
6. y=4x—x3 LD, ICH T 2RO HEA KD X,
7. fozlx—aldx ZEMREE X,

8. d=(1,0,1).b=(221) 2EHEICHF T P LT3 LE |l |b|EkD k.

9. G=(1,01). b=(221) #%EMcsIs~27 AT 2LE, atbDhTHAa

RO X, 7272l 0°=a =180t T 5,

10.2 b Ad, b 23, |d+b|=6. |@—b|=2. |b|=3 #H7=T L&, Wi bxK
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11.y = log |tan§| 2oL
12.y = sinx (|x] < g)@ﬁfﬁiﬁl%%ﬁj\’d’io

X -X

13.y = == ZM5EL,

14. x = cos6 + Osinf. y = sinf — Ocosf LT HEX, Z—Z\ % ZODATEYE,

15. B4 f (x) = 2x — V/2sinx + V6cosx DX[F0 £ x < mlZ B D KE & F/IMEE K
O,
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17. B [, = dx OffizRD L,

18. L [ log(x + VI +x2) dx %KL,
19. [ tan3xdx OAREFEIERD L,

20. Hif#y = sinx (0 S x S ) Exfi CHENTESF%E ., yliDO FOIZ AL 72 FEIZ
(LY AVARVRENLUN -tz R



